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Question: 1 

The Latin word status represents 

(A) Logic 

(B) Statistics 

(C) Science 

(D) Economics 

Ans: B 

Statistics 

Question: 2 

The statistical tool to measure changes over time is 

(A) Variance 

(B) Deviation 

(C) Averages 

(D) Index number 

Ans: D 

Index number 

Question: 3 

The most preferred diagram to represent the 

components of a variable 

(A) Pictogram 



(B) Pie diagram 

(C) Bar diagram 

(D) Line diagram 

Ans: B 

Pie diagram 

Question: 4 

Separate the bank whose motive is not profit-making 

(A) RBI 

(B) IOB 

(C) Canara bank 

(D) Andhra bank 

Ans: A 

RBI 

Question: 5 

Agricultural productivity can be measured in terms of 

(A) Mechanization 

(B) Land and labour productivity 

(C) Irrigational facilities 

(D) Consumption of fertilizer 

Ans: B 

Land and labour productivity 

Question: 6 



The difference between NNP and NDP is 

(A) Net factor income from abroad 

(B) Indirect tax 

(C) Current transfers from rest of the world 

(D) Depreciation 

Ans: A 

Net factor income from abroad 

Question: 7 

Agriculture gives rise to ____ unemployment. 

(A) Professional 

(B) Seasonal 

(C) Structural 

(D) Cyclical 

Ans: B 

Seasonal 

Question: 8 

The author of Arthasastra is 

(A) Mahatma Gandhi 

(B) Jawaharlal Nehru 

(C) Kautilya 

(D) Thiruvalluvar 

Ans: C 



Kautilya 

Question: 9 

According to 2001 Census, the population of India 

was 

(A) 236 million 

(B) 890 million 

(C) 1000 million 

(D) 1027 million 

Ans: D 

1027 million 

Question: 10 

Nearly 20% of the cultivated area is irrigated by 

(A) Tube wells 

(B) Storage canals 

(C) Perennial canals 

(D) Tanks 

Ans: D 

Tanks 

 


